A\

\ R VDN

LA =

\

&

¥ERLINZ / Components

No. & %5 / Part name #E / Pcs B / Material - EAE / Color-Finish
1 | An— 1 7 ILE4R A1100P t=1.5 ARG LN / REEBNE
Cover Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
2 | 1 7 ILEHR A1100P t=1.5 ARG N—RE / REEBNE
Base Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
3 ER{fHE R (M/NEE M3 x 4) 4 % =ffiyRAi—k
Screw (Flat-head M3 - 4) Steel Trivalent chromate
4 Raspberry Pi Bi{d FIE R (- M25 x 4) 4 &% ={oRi—k
Screw for Board (M2.5 - 4) Steel Trivalent chromate
5 BRI LR 4 BT L TS99
Rubber feet Rubber Black
6 GVOF YT AR—Y— 4 % FEEnH-E =
Clinching standoff Steel Trivalent zinc plated
T | RARR—Y— (M25/ L=25) 4 =R=ob) S AYE
Hexagonal spacer (M2.5 L=25) Brass Nickel plated

*J LR FEBDBRICREYMAFITTEETY,

*Adhesive rubber feet in cluded

4
7
Q |
E' \x >
N\ =
3 6
#EEM : Raspberry Pi 4B 5
Suitable PCB : Raspberry Pi 4B
4/ Title
HRRUINTFERTE Raspberry Pi BT LS —2 o=
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi ALUMINIUM CASE
AR/ Approved &M /Checked HIX/Created FIFE /Product number RIE/Scale
RPI-4B-2 I
iR 1| A1l 1/ 4
YER B /Date 2023/01/05




A
AN

65

2.6

97

60

BT / Max dim. 475

>

W =
\ Z
65

= B
|
|
!
H
|
|
1 | |
r
I
|
|
|
|
—
(7 )
(a»)

I 1 o
= =
A-A(1:15)

7 )
a O}
“%' '.?5

E#~i% / Max dim. 61

4.5

R4.5
R3

v U

O O

B-B(1:15)

00
N

©

~Ti% / Max dim. 92

ANNNNN

#h

A
© J|© ©f

s

©

© ||l of

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mn/Title
Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

o]

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number

RPI-4B-2

RE/Scale
1:15

{ERL B /Date 2019/11/13

2 / 4




$H7/N\— / Cover

Fﬂ ﬂq
—1 ——
Lo
© o
©
R3
\& 2. R45
18 26
65 4-2 %X 10 R1 15 15
13 26 4-2x17 R1 14 12-R1 14
= Ty Sy 5
- % % |ls . .
e 7 3 ~ 0
21, 26.6 17J_| e
N
26 18 ~ M M N
2-¢8 (Y Y || o © ©
~ 188 [9] 172 [ || 11 o w = o
20 20 o i I - - ® N
l % % 0 188 [9] 172 [9] || 1« © ©
_ o 51 - Gu ~
<,;///> /8 ¢ 8-R3 — o @ 3
P, 7/ ¢ Te) —
G0 5.9 & o e
14-2x 17 R1
26 13 9 47 9 _
192 76 186 7.6 12 4-M3FR M7 (/MR
4-2x 10 R1 FAIL7RUNER)
4-M3 Counter Sunk
o
7 N
—n — 4 /Title
= — TAKACHI] #zteitahF BT Raspberry Pi ®A7 LS/ —2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi ALUMINIUM CASE
7 5%/ Approved & /Checked #1[X]/Created FIF /Product number RE/Scale
RPI-4B-2 115
iR HHE Al 3 /4
YERiH/Date  2019/11/13




< ¥—< /Base

1.5

56.5

4.5

95

6.7

23.6

20.2 3

76 163 103 163 6

3.9

9.2

15.3

153

16.5

16.3 [10.3[ 16.3 |6

7.6

61

47

4_
® ®

22 17 22
22 17 22
g —
(@n]

8-R1.5
6 458

4.5

14 8.7

14 125

7.3

375

20

375

17 | 145 |7

18

4-R3

4-M25 D) F Y AR—Y—
4-M2.5 Clinching standoff

25

10 10 10 10

30

16

29

16

1))
7

o

N
’,

AN\
7/

N
/

; \

N\

\
’
\
’

10-2x 7 R1

[ 1

49

30

101010 10

25

27

58

10

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

o]

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number RE/Scale
RPI-4B-2 1:1.5
fERB/Date  2019/11/13 4/ 4




